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Chapter 13—Managing Information and Information Technology
TRUE/FALSE

1.
Managers are constantly bombarded with data and information.
ANS:
T
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Comp

2.
IT does not include software.
ANS:
F
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Comp

3.
Data does not lie. Sometimes users of data manipulate or misread it.
ANS:
T
PTS:
1
OBJ:
13.1
NAT:
AACSB: E

TYP:
Comp

4.
When someone makes a report, they always turn data into information.
ANS:
F
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Comp

5.
Information is always useful if it is complete.
ANS:
F
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

6.
When used to describe information, the term accurate means that the information is pertinent to the subject at hand.
ANS:
F
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

7.
Information technology has one typeelectronic.
ANS:
F
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Comp

8.
Orchestrating news releases, public announcements, and advertising for maximum benefit are examples of postaction control.
ANS:
T
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

9.
When a manager checks to see that the information contained in a report to be furnished to a government agency is correct, he or she is using postaction control.
ANS:
F
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

10.
The scanning device many teachers use to read computer answer sheets would be classified as a processor.
ANS:
F
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

11.
The control system for a computer-based information system consists of the computer software.
ANS:
T
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

12.
Information technology systems need not be computerized.
ANS:
T
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Comp

13.
The information system is a complex of several information systems that share information while serving different levels of the organization, different departments, or different operations.
ANS:
T
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Comp

14.
People who run the company's computer equipment are usually called knowledge workers.
ANS:
F
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

15.
Transaction-processing systems gather, organize, summarize, and report data for use by managers.
ANS:
F
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

16.
Peddie Aquatics Association went from receiving tuition checks from each family to using Team Unify software that automatically bills the family's credit card on the first of the month. Team Unify is an example of a decision-support system.
ANS:
F
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

17.
Management information systems help link several parts of an organization together.
ANS:
T
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

18.
If managers need more comprehensive information than they can get from a transaction-processing system but do not need formal decision-making assistance, they should use a management information system.
ANS:
T
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Comp

19.
The DSS uses a wide range of both internal information and external sources, such as industry reports, global economic forecasts, and reports on competitors' capabilities.
ANS:
F
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

20.
URL stands for universal response location.
ANS:
F
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

21.
The last step in establishing an information system is to test the system and make appropriate modifications.
ANS:
F
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Def

22.
Establishing an information system is a relatively simple, straightforward procedure.
ANS:
F
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Comp

23.
The real test of the value of an information system is how it can be used.
ANS:
T
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Comp

24.
Information systems are not suitable for all tasks or problems.
ANS:
T
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Comp

25.
A limitation of information systems is that the systems are not suitable for all tasks or problems.
ANS:
T
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Comp

26.
Electronic networks allow businesses to offer customers greater variety and faster delivery cycles.
ANS:
T
PTS:
1
OBJ:
13.4
NAT:
AACSB: T

TYP:
Comp

27.
Due to the growth of networking capabilities, the need for collaboration is increasing.
ANS:
T
PTS:
1
OBJ:
13.4
NAT:
AACSB: T

TYP:
Comp
MULTIPLE CHOICE

1.
Which of the following is the BEST example of data?

	a.
	Listing of your test and quiz scores in this class

	b.
	Daily report showing total hours employees were absent

	c.
	Report comparing current sales with last year's sales

	d.
	Production report showing the previous day's output

	e.
	Report showing the maintenance status of vehicles a truck line owns


ANS:
A
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

2.
In the first nine months of the year VW sales in the U.S. were up 22%. What is this?

	a.
	Data that require analyzing and organizing before they will be of value

	b.
	Information that can be used as a basis for future actions on her part

	c.
	Information that requires analyzing and organizing before it will be of value

	d.
	Data that can be used as a basis for actions on her part without any further manipulation

	e.
	Either data or informationthey mean the same thing


ANS:
A
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

3.
Information technology is comprised of which of the following?

	a.
	Telephones

	b.
	Data processing software

	c.
	Spreadsheets

	d.
	Computers

	e.
	Any resources that a company can use to manage the information it needs to carry out its business


ANS:
E
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

4.
In the first nine months of the year VW sales in the U.S. were up 22%. The overall auto market for that period was up only 10%. VW ____ that information to plan production schedules.

	a.
	stored

	b.
	combined

	c.
	passed

	d.
	discarded

	e.
	used


ANS:
B
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

5.
Drew read that the stock market hit a low for the year. He ____ that information to decide to buy $3,000 worth of a mutual fund because he felt it was a bargain.

	a.
	stored

	b.
	combined

	c.
	passed

	d.
	discarded

	e.
	used


ANS:
E
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

6.
An upper-level executive at Gucci has just received a computer printout of the monthly sales figures. The 30-page document includes all of the figures from each of the major urban areas. ____ should be used to manage this data so that it can be understood by those that need it to carry out the company's business.

	a.
	Information technology

	b.
	Data retrieval

	c.
	Information manipulation

	d.
	Screening control

	e.
	Postaction control


ANS:
A
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

7.
According to the text, which of the following is NOT a characteristic of useful information?

	a.
	Accurate

	b.
	Complete

	c.
	Relevant

	d.
	Fast

	e.
	Timely


ANS:
D
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

8.
Greece has a debt crisis because it spends more than it takes in tax revenue. To fix the problem this information is

	a.
	subjective.

	b.
	incomplete.

	c.
	irrelevant.

	d.
	inaccurate.

	e.
	timely.


ANS:
B
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

9.
Information that is complete

	a.
	must be available at the appropriate time.

	b.
	must present all pertinent facts.

	c.
	must accurately reflect the real world.

	d.
	must have a bearing on the problem at hand.

	e.
	All of these choices


ANS:
B
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

10.
Information that provides a reliable and valid reflection of the real world is said to be

	a.
	accurate.

	b.
	complete.

	c.
	differentiated.

	d.
	systematic.

	e.
	dependable.


ANS:
A
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

11.
Which of the following statements about the timeliness of information is FALSE?

	a.
	Timeliness is a function of situational variables.

	b.
	Managers should have information in time to take appropriate action.

	c.
	Timely could imply that the information needs to be fast.

	d.
	Timely might mean next year in some cases.

	e.
	Timely information must reach the manager as quickly as possible.


ANS:
E
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

12.
The stock market is down 200 points. This is an example of ____ information.

	a.
	inaccurate

	b.
	perceptually incorrect

	c.
	statistically skewed

	d.
	incomplete

	e.
	irrelevant


ANS:
D
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

13.
Blake says "there is no truth in dating." He believes dating provides ____ information.

	a.
	irrelevant

	b.
	untimely

	c.
	statistically distorted

	d.
	inaccurate

	e.
	complete


ANS:
D
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

14.
The relevance of information depends on whether it

	a.
	reaches the manager in time to take appropriate action.

	b.
	tells the whole story.

	c.
	accurately reflects the real situation.

	d.
	relates to what the manager is doing at the time.

	e.
	has been analyzed and put in useful form.


ANS:
D
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

15.
Maricel works on the assembly line for Chrysler. From her perspective, information about liquidity ratios is

	a.
	insignificant.

	b.
	inaccurate.

	c.
	incomplete.

	d.
	irrelevant.

	e.
	untimely.


ANS:
D
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

16.
Screening controls applied to information in an organization focus on

	a.
	seeing that the information is available to everyone who needs it.

	b.
	making sure that information leaving the organization is what is intended.

	c.
	ensuring that the information is in proper form.

	d.
	ensuring that the information is used effectively.

	e.
	All of these choices


ANS:
D
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

17.
Organizations would use preliminary controls to ensure that

	a.
	the information gathered is complete and relevant.

	b.
	the information is effectively used.

	c.
	only authorized persons in the organization have access to sensitive information.

	d.
	the right information leaves the organization.

	e.
	the information leaving the organization is accurate.


ANS:
A
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

18.
Organizations would use postaction controls to ensure that

	a.
	the information gathered is complete and relevant.

	b.
	the information is effectively used.

	c.
	only authorized persons in the organization have access to sensitive information.

	d.
	the right information leaves the organization.

	e.
	the information leaving the organization is accurate.


ANS:
D
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

19.
A keyboard and bar code scanner are examples of

	a.
	information processors.

	b.
	expert systems.

	c.
	input devices.

	d.
	output devices.

	e.
	storage media.


ANS:
C
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

20.
With a computerized information system, analyzing and processing information are done by

	a.
	input devices.

	b.
	a central processor.

	c.
	output devices.

	d.
	artificial intelligence.

	e.
	expert systems.


ANS:
B
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

21.
Hard drives and flash drives are common forms of

	a.
	input devices.

	b.
	output devices.

	c.
	storage devices.

	d.
	artificial intelligence.

	e.
	expert systems.


ANS:
C
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

22.
The instructions or programs that control the computer and enable it to function are referred to as

	a.
	software.

	b.
	the central processor.

	c.
	hardware.

	d.
	input devices.

	e.
	expert systems.


ANS:
A
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

23.
Lotus 123 and Word Perfect are examples of

	a.
	hardware.

	b.
	input devices.

	c.
	software.

	d.
	networks.

	e.
	decision support systems.


ANS:
C
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

24.
Carol made a donation to her church using her credit card online. After the transaction she received an email thank you note and confirmation. Which part of an information system does the email represent?

	a.
	Input medium

	b.
	Output medium

	c.
	Storage device

	d.
	Processor

	e.
	Control system


ANS:
B
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

25.
Where in an information system are data converted into useful information?

	a.
	Input medium

	b.
	Processor

	c.
	Storage medium

	d.
	Output medium

	e.
	Control medium


ANS:
B
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
Def

26.
Greg's staff prepared a brief with 46 power point slides. Which part of the information system do the slides represent?

	a.
	Input medium

	b.
	Processor

	c.
	Storage medium

	d.
	Output medium

	e.
	Control system


ANS:
D
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

TYP:
App

27.
Which of the following helps to determine the information system needs of an organization?

	a.
	Size

	b.
	Environment

	c.
	Area

	d.
	Level

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Comp

28.
Which of the following factors determines the need for information management rather than the kind of information needed?

	a.
	Environment and organizational size

	b.
	Organizational level and functional area involved

	c.
	Environment and organizational level

	d.
	Size and functional area involved

	e.
	Size and organizational level


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Comp

29.
At which level of an organization is the need for a broad, general kind of information across a variety of time frames greatest?

	a.
	Top management

	b.
	Middle management

	c.
	First-line supervision

	d.
	Staff level

	e.
	Functional level


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

30.
At which level of an organization is the need for very specific information with a short time frame greatest?

	a.
	Functional departments

	b.
	Staff level

	c.
	Top management

	d.
	Middle management

	e.
	First-line supervision


ANS:
E
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

31.
____ are specialists, usually professionally trained and certified, who rely on information technology to design new products or create new business processes.

	a.
	Knowledge workers

	b.
	Technical specialists

	c.
	Computer engineers

	d.
	Information specialists

	e.
	Information managers


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

32.
When VW redesigned the Beetle it used ____ with CAD expertise.

	a.
	knowledge workers

	b.
	technical specialists

	c.
	computer engineers

	d.
	data analyzers

	e.
	information processors


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

33.
Netflix announced it was separating streaming from DVD mail rentals on to two separate web sites. A month later, after significant consumer complaint, it announced that it was keeping both functions on the Netflix website. Its ____ was responsible for these decisions.

	a.
	top management

	b.
	middle management

	c.
	first-line supervision

	d.
	staff level

	e.
	functional level


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

34.
Geoff placed an order with Amazon. The processing of day-to-day transactions takes place in a(n) ____ information system.

	a.
	nominal

	b.
	function-specific

	c.
	transaction-processing

	d.
	MIS

	e.
	decision support


ANS:
C
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

35.
Theresa tracks her credit card spending on her card's website. Each day her purchases are processed by a(n) ____ information system.

	a.
	decision support

	b.
	transaction-processing

	c.
	management information

	d.
	expert

	e.
	artificial intelligence


ANS:
B
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

36.
Which of the following is NOT a characteristic of a transaction-processing system?

	a.
	Useful in aggregating large amounts of data

	b.
	Most useful to middle- and upper-level managers

	c.
	Most useful when dealing with large numbers of similar transactions

	d.
	Used primarily for routine and recurring situations

	e.
	First computerized form of information system used in many organizations


ANS:
B
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

37.
Which of the following is a system designed to handle routine and recurring transactions within an organization?

	a.
	Management information system

	b.
	Decision support system

	c.
	Informal system

	d.
	Transaction-processing system

	e.
	Expert system


ANS:
D
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

38.
The information systems department is

	a.
	not part of an organization's hierarchy.

	b.
	purely a staff department.

	c.
	composed of both knowledge workers and data workers.

	d.
	not a functional department.

	e.
	All of these choices


ANS:
C
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Comp

39.
Administrative assistants who process data and create communications documents use ____ systems.

	a.
	expert

	b.
	artificial intelligence

	c.
	office applications

	d.
	executive support

	e.
	decision support


ANS:
C
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

40.
The organizational information system that gathers and organizes comprehensive data, puts them in a form useful to managers, and then provides the managers with the information they need to do their work is called a(n)

	a.
	transaction-processing system.

	b.
	decision support system.

	c.
	MIS.

	d.
	structured information system.

	e.
	functional information system.


ANS:
C
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

41.
A ____ is a system that gathers, organizes, summarizes, and reports data for use by managers.

	a.
	management information system

	b.
	decision support system

	c.
	transaction-processing system

	d.
	distributed system

	e.
	software system


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

42.
Before Randall goes to the mall he checks the Internet for coupons to various stores. In this way the Internet is a(n)

	a.
	transaction-processing system.

	b.
	management information system.

	c.
	expert system.

	d.
	artificial intelligence system.

	e.
	decision support system.


ANS:
E
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

43.
USAA provides financial services to U.S. military personnel and their families. It maintains a customer database built from customer purchasing histories and information collected directly from the customers. Through skillful use of its database, USAA serves each of its customers uniquely. For example, marketers can check the system to see who has recently wrecked a car and send him or her car loan information. This computerized database lets managers track customer retention rates and add-on sales as well as new customer activities. This is an example of

	a.
	a transaction-processing system.

	b.
	a management information system.

	c.
	an expert system.

	d.
	artificial intelligence.

	e.
	None of these choices


ANS:
B
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

44.
Which of the following statements comparing an MIS and a decision support system is TRUE?

	a.
	An MIS is more flexible than a decision support system.

	b.
	An MIS is harder to learn than a decision support system.

	c.
	An MIS works better when problems are nonroutine than does a decision support system.

	d.
	A well-developed MIS requires more use of time and resources than does a decision support system.

	e.
	An MIS is not as complex as a decision support system.


ANS:
E
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Comp

45.
A(n) ____ is an interactive computer system that locates and presents information needed by a manager to support the decision-making process.

	a.
	management information system

	b.
	transaction-processing system

	c.
	decision support system

	d.
	hypertext system

	e.
	environmental monitoring system


ANS:
C
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

46.
A marketer for a motion picture company is determining when to release a movie to gain maximum exposure and viewers. The marketer needs to use a(n)

	a.
	decision support system.

	b.
	transaction-processing system.

	c.
	management information system.

	d.
	artificial intelligence system.

	e.
	computerized database.


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

47.
Joan is the CEO of a marketing firm. At the start of each day, she logs on to her computer and reviews the trends and patterns of information important to her business. The type of system she is using is a(n)

	a.
	executive support system.

	b.
	decision support system.

	c.
	management information system.

	d.
	transaction-processing system.

	e.
	computerized database.


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

48.
Which of the following systems builds on a series of rules (frequently, if-then rules) to move from a set of data to a decision recommendation?

	a.
	Expert system

	b.
	Network system

	c.
	Decision support system

	d.
	Knowledge-based system

	e.
	Transaction-processing system


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

49.
NCC Incorporated has a complex, computerized information system that can calculate projected sales, market share, and profit profiles for each of the potential price-increase levels that a manager is considering. This is an example of a(n)

	a.
	transaction-processing.

	b.
	MIS.

	c.
	decision support.

	d.
	expert.

	e.
	functional.


ANS:
C
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

50.
Information systems that are designed to duplicate, or at least imitate, human thought processes are known as ____ systems.

	a.
	transaction-processing

	b.
	management information

	c.
	expert

	d.
	decision support

	e.
	integrated


ANS:
C
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

51.
For many years, the same first-line manager supervised the preparation of Campbell soups. He knew, for instance, that the thermometer on one vat consistently read 2 degrees higher than it actually was. He also knew by smell and consistency when to add additional ingredients and when a soup was ready for canning. A year before his retirement, Campbell hired ____ to follow him around and collect his information in the form of if-then statements and then to create a computerized information system to replicate that knowledge.

	a.
	knowledge workers

	b.
	technical specialists

	c.
	computer engineers

	d.
	data analyzers

	e.
	information processors


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

52.
For many years, the same first-line manager supervised the preparation of Campbell soups. He knew, for instance, that the thermometer on one vat consistently read 2 degrees higher than it actually was. He also knew by smell and consistency when to add additional ingredients and when a soup was ready for canning. A year before his retirement, Campbell hired knowledge workers to follow him around and collect his information in the form of if-then statements. With the information gathered, the knowledge workers were able to create

	a.
	transaction-processing systems.

	b.
	management information systems.

	c.
	expert systems.

	d.
	decision support systems.

	e.
	integrated systems.


ANS:
C
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

53.
For many years, the same first-line manager supervised the preparation of Campbell soups. He knew, for instance, that the thermometer on one vat consistently read 2 degrees higher than it actually was. He also knew by smell and consistency when to add additional ingredients and when a soup was ready for canning. A year before his retirement, Campbell hired knowledge workers to follow him around and collect his information. The knowledge workers were able to use ____ to create computer systems that could smell soups and know when they were finished cooking.

	a.
	a transaction-processing system

	b.
	a management information system

	c.
	a decision support system

	d.
	artificial intelligence

	e.
	an executive information system


ANS:
D
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

54.
Which of the following is used as a quick reference for upper-level managers?

	a.
	Executive support system

	b.
	Decision support system

	c.
	Management information system

	d.
	Transaction-processing system

	e.
	Computerized database


ANS:
A
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

55.
As a communication medium, the Internet can

	a.
	remove all encoding problems from the communication process.

	b.
	transmit information fast and at a low cost.

	c.
	replace all interpersonal communication.

	d.
	remove all decoding problems from the communication process.

	e.
	eliminate all noise from the communication process.


ANS:
B
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Comp

56.
Internet service providers

	a.
	are the world's largest data communications network.

	b.
	were created by the Pentagon.

	c.
	allow personal computers almost anywhere in the world to be linked together.

	d.
	are commercial firms that maintain a permanent connection to the Net and sell temporary connections to subscribers.

	e.
	All of these choices


ANS:
D
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

57.
The World Wide Web

	a.
	allows users around the world to communicate electronically with little effort.

	b.
	is a system with universally accepted standards for storing, retrieving, formatting, and displaying information.

	c.
	provides the common language that enables people to surf the Net.

	d.
	makes the Internet available to a general audience.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

58.
Which of the following statements about websites is TRUE?

	a.
	The Internet acts as the web server.

	b.
	A webmaster is someone who has a great deal of experience surfing the Web.

	c.
	A web browser enables users to access information on the Web.

	d.
	A web browser runs on the Internet site and allows the user to navigate the site quickly and efficiently.

	e.
	All of these choices


ANS:
C
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Comp

59.
A(n) ____ is a communication network similar to the Internet but operating within the boundaries of a single organization.

	a.
	web delimiter

	b.
	intranet

	c.
	limited Internet

	d.
	focused website

	e.
	extranet


ANS:
B
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

60.
A(n) ____ is a communication network that allows selected outsiders limited access to an organization's internal information system.

	a.
	web delimiter

	b.
	intranet

	c.
	limited Internet

	d.
	focused website

	e.
	extranet


ANS:
E
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
Def

61.
Rite Aid shares inventory information with Johnson and Johnson, General Mills, American Greetings, and numerous other suppliers. The limited access these companies share with each other's information systems is called a(n)

	a.
	web delimiter.

	b.
	computerized alliance.

	c.
	limited Internet.

	d.
	focused website.

	e.
	extranet.


ANS:
E
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

TYP:
App

62.
In establishing an information system, the first step is to

	a.
	assemble a database.

	b.
	determine what hardware configuration to use.

	c.
	determine what control systems to use.

	d.
	determine information needs.

	e.
	integrate the database with the rest of the system.


ANS:
D
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Def

63.
During which stage of the development of an information system is the actual information system created?

	a.
	When determining information needs

	b.
	When determining hardware and software needs

	c.
	When integrating databases with hardware and software

	d.
	When documenting the system

	e.
	When testing and modifying the system


ANS:
C
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Def

64.
When establishing an information system, managers need to keep in mind that

	a.
	the system is for keeps, so they should get it right the first time.

	b.
	the information needs will change over time.

	c.
	information systems usually run over budget.

	d.
	the system will save money in the long run, so spending extra up front is worth it.

	e.
	managing knowledge workers is harder than managing other workers.


ANS:
B
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Comp

65.
Which of the following is NOT part of the process of establishing an information system?

	a.
	Developing documentation and training users

	b.
	Monitoring system effectiveness and making appropriate modifications

	c.
	Testing the system and making appropriate modifications

	d.
	Creating a transaction-processing system to handle all information needs

	e.
	Determining hardware needs and acquiring equipment


ANS:
D
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Def

66.
Which of the following statements about integrating information systems is TRUE?

	a.
	Most organizations use more than one information system.

	b.
	Integrating information systems is not easy.

	c.
	If a common hardware is used, integration problems are minimized.

	d.
	If information systems are developed at the same time, integration problems are minimized.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Comp

67.
United Technologies offered to buy Goodrich. As the companies merge, their information systems need to be integrated. What is the main information problem they will likely have to overcome?

	a.
	Linking decision support systems with an MIS

	b.
	Differences in technology and operating systems

	c.
	Linking transaction processing systems to an MIS

	d.
	Cost

	e.
	Copyright and patent restrictions


ANS:
B
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
App

68.
The real test of the value of an information system is

	a.
	its costs.

	b.
	the competitive advantage it provides.

	c.
	the clarity and ease of use of its printouts.

	d.
	the extent to which other organizations want to emulate it.

	e.
	how it can be used.


ANS:
E
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Comp

69.
____ are software and hardware systems that allow employees access to both the Internet and the company's internal computer network while barring entry by outsiders.

	a.
	Computer barriers

	b.
	Process barriers

	c.
	Firewalls

	d.
	Security fences

	e.
	Safety guards


ANS:
C
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Def

70.
Organizations use firewalls to

	a.
	protect their computer files against intrusion from unauthorized access.

	b.
	encourage Internet surfers to visit an e-commerce site.

	c.
	upgrade websites to make them more cognitively and emotionally attractive.

	d.
	prevent spam.

	e.
	keep track of what files employees are accessing.


ANS:
A
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Def

71.
The headquarters building of a global corporation experienced a technical problem that disabled email for the afternoon. The work of over 200 employees came to a sudden stop. This is an example of which information system limitation?

	a.
	Information systems are expensive and difficult to develop and implement.

	b.
	Managers sometimes rely on information systems too much.

	c.
	Information systems are subject to sabotage, viruses, or downtime.

	d.
	Information systems are suitable for all tasks or problems.

	e.
	Managers may have unrealistic expectations of what information systems can do.


ANS:
B
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
App

72.
A communications and marketing executive collaborates with ad agencies on ad campaigns, which require a lot of graphics. She frequently calls her technical support team to inform them she needs more memory in her email inbox to support the large files. This is an example of which information system limitation?

	a.
	Information systems are expensive and difficult to develop and implement.

	b.
	Information provided to managers may not be as accurate, timely, complete, or relevant as it first appears to be.

	c.
	Information systems are subject to sabotage, viruses, or downtime.

	d.
	Information systems are suitable for all tasks or problems.

	e.
	Managers may have inaccurate expectations of what information systems can do.


ANS:
B
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
App

73.
Which of the following organizational changes is LEAST likely to happen as a result of implementing an effective information system in an organization?

	a.
	Improved review and oversight of decisions

	b.
	Increased delegation

	c.
	Increased overall span of control

	d.
	The elimination of one or more layers of the organization

	e.
	Increased networking with suppliers and customers


ANS:
B
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

TYP:
Comp

74.
Wikipedia believes in the intelligence of a crowd. It allows thousands of contributors to edit articles in its online encyclopedia. This is an example of which advantage associated with management systems?

	a.
	Increased collaboration

	b.
	Leaner organizations

	c.
	More efficient employees

	d.
	More satisfied employees

	e.
	More flexible operations


ANS:
A
PTS:
1
OBJ:
13.4
NAT:
AACSB: T

TYP:
App

75.
Which of the following statements describes a behavioral effect of information systems?

	a.
	Some employees feel isolated.

	b.
	Some employees feel excited about having their jobs enriched.

	c.
	Some employees will be able to work at home.

	d.
	Some employees will feel they are constantly connected to work.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
13.4
NAT:
AACSB: T

TYP:
Comp

76.
Which of the following is NOT an advantage of information systems?

	a.
	Reduced requirement for personal interaction

	b.
	The potential for new informal groups

	c.
	Increased job satisfaction from being able to master the technology involved

	d.
	Increased personal efficiency

	e.
	Ability to telecommute


ANS:
B
PTS:
1
OBJ:
13.4
NAT:
AACSB: T

TYP:
Comp
COMPLETION

1.
____________________ refers to the resources used by an organization to manage information that it needs in order to carry out its mission.
ANS:
Information technology
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

2.
____________________ is data presented in a way or form that has meaning.
ANS:
Information
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

3.
____________________ means that the information must provide a valid and reliable reflection of reality.
ANS:
Accuracy
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

4.
Information that provides all of the relevant facts about a situation is described as ____________________.
ANS:
complete
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

5.
____________________ information, like timely information, depends on the needs and circumstances of a particular manager.
ANS:
Relevant
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

6.
Getting data into a system involves one or more ____________________ devices.
ANS:
input
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

7.
____________________ are places where data can be kept for later use.
ANS:
Storage devices
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

8.
The central processor and the input and output devices are known as computer ____________________.
ANS:
hardware
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

9.
Simple systems in smaller organizations can use off-the-shelf software for the ____________________.
ANS:
control system
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

10.
At the beginning of this decade, cell phone companies could use only a small portion of the radio frequency band because software did not exist that could scan the entire radio band and find any unused frequencies. Six different companies employed ____________________ to develop such software.
ANS:
knowledge workers
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

11.
Each business functionmarketing, human resources, accounting, operations, financehas its own ____________________ requirements.
ANS:
information
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

12.
A(n) ____________________ system supports an organization's managers by providing daily reports, schedules, plans, and budgets.
ANS:
management information
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

13.
A(n) ____________________ system is an interactive system that locates and presents information needed to help managers choose among alternatives.
ANS:
decision support
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

14.
____________________ are designed to assist with decisions and problems such as "What lines of business should we be in five years from now?"
ANS:
Executive support systems
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

15.
A gigantic network of networks serving millions of computers and providing communication flows among more than 170,0000 separate networks around the world is the ____________________.
ANS:
Internet
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

16.
A(n) ____________________ is a commercial firm that maintains a permanent connection to the Net and offers temporary connections to subscribers.
ANS:
Internet service provider
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

17.
Large websites use dedicated workstationslarge computersknown as ____________________, which are customized for managing, maintaining, and supporting websites.
ANS:
web servers
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

18.
The actual information system is created by ____________________ the databases, hardware, software, and operating systems.
ANS:
integrating
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

19.
To prevent unauthorized access, many firms rely on ____________________: use of a secret numeric code to scramble the characters in the message, so that the message is not understandable during transmission.
ANS:
encryption
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

20.
Information systems are ____________________ and difficult to develop and implement.
ANS:
expensive
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

21.
____________________ refers to products such as cellular phones, PCs, and audio systems that can be custom-ordered and delivered the next day.
ANS:
Mass customization
PTS:
1
OBJ:
13.4
NAT:
AACSB: T

22.
When an employee can work from almost anywhere by plugging into the organization's information system, the organization has more flexible ____________________.
ANS:
work sites
PTS:
1
OBJ:
13.4
NAT:
AACSB: T

23.
Information systems can lead to employees' feeling ____________________ as they gain more access to information from computers and are able to work in more remote locations.
ANS:
isolated
PTS:
1
OBJ:
13.4
NAT:
AACSB: T
MATCHING
Match the following. You may use a response once, more than once, or not at all.

	a.
	Accurate

	b.
	Complete

	c.
	Relevant

	d.
	Suitable

	e.
	Timely



1.
The information was available when required.

2.
The information was true, pertinent, and dependable.

3.
The information pertained to the decision being made.

4.
All the required information was available.

1.
ANS:
E
PTS:
1

2.
ANS:
A
PTS:
1

3.
ANS:
C
PTS:
1

4.
ANS:
B
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Control system

	b.
	Input medium

	c.
	Output medium

	d.
	Processor

	e.
	Storage device

	f.
	Manual systems



5.
Transforms the data

6.
Optical scanners and keyboards

7.
Routing slips, memos and file folders

8.
Video display, printers and fax machines

9.
Microsoft Word and Excel

10.
Hard drives and CD-ROMs

5.
ANS:
D
PTS:
1

6.
ANS:
B
PTS:
1

7.
ANS:
F
PTS:
1

8.
ANS:
C
PTS:
1

9.
ANS:
A
PTS:
1

10.
ANS:
E
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Uniform Resources Locator

	b.
	Maintain permanent connection to the World Wide Web and sell subscriptions

	c.
	Microsoft's Internet Explorer

	d.
	Similar to the Internet within organizational boundaries

	e.
	Yahoo! and Google are examples of free directories of web content

	f.
	Allows outsiders limited access to internal communications networks

	g.
	Gigantic network of networks originally designed by the Pentagon



11.
Internet service provider

12.
Search engines

13.
Web browser

14.
Intranet

15.
Extranet

16.
Internet

17.
Web address

11.
ANS:
B
PTS:
1

12.
ANS:
E
PTS:
1

13.
ANS:
C
PTS:
1

14.
ANS:
D
PTS:
1

15.
ANS:
F
PTS:
1

16.
ANS:
G
PTS:
1

17.
ANS:
A
PTS:
1
Special Exercises

Determine whether top-level manager, middle-level manager, or low-level manager most accurately answers each question.

	a.
	Top-level manager

	b.
	Middle-level manager

	c.
	Lower-level manager



18.
Who would personally oversee the transfer of the company's records to computer files?

19.
Who would set a goal to have all of the company's files stored on a computer within the next 18 months?

20.
Who would need data summaries and analyses for setting intermediate goals for departments under their supervision?

21.
Who would be responsible for overseeing transaction processing?

22.
Who would receive a report from a subordinate explaining how to solve a technical problem?

23.
Who would have the greatest need for information to oversee the day-to-day details of the implementation of operational plans?

24.
Who would be most likely to lose his or her job as a result of the implementation of information networks that facilitate organizational communication?

25.
Who would be classified as the largest MIS user group?

26.
Who would get an electronic summary of yesterday's production report?

27.
Who would need access to information about broad trends in the economy, the business environment, and the company to develop long-term planning for the entire organization?

18.
ANS:
C
PTS:
1
TOP:
Special Exercises


19.
ANS:
A
PTS:
1
TOP:
Special Exercises


20.
ANS:
B
PTS:
1
TOP:
Special Exercises


21.
ANS:
C
PTS:
1
TOP:
Special Exercises


22.
ANS:
B
PTS:
1
TOP:
Special Exercises


23.
ANS:
C
PTS:
1
TOP:
Special Exercises


24.
ANS:
B
PTS:
1
TOP:
Special Exercises


25.
ANS:
B
PTS:
1
TOP:
Special Exercises


26.
ANS:
B
PTS:
1
TOP:
Special Exercises


27.
ANS:
A
PTS:
1
TOP:
Special Exercises

ESSAY

1.
What is the role of information in the manager's job?
ANS:


Answer not provided.
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

2.
Realtors typically keep their own homes on the market longer and get a higher price than when they are selling someone else's home. Is that data or information? Why?
ANS:


Answer not provided.
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

3.
Compare and contrast the terms data and information. Give an example of each term.
ANS:


Answer not provided.
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

4.
Describe the five building blocks of information technology.
ANS:


Answer not provided.
PTS:
1
OBJ:
13.1
NAT:
AACSB: T

5.
Who are knowledge workers? Describe an organization task that a knowledge worker might perform.
ANS:


Answer not provided.
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

6.
What is a transaction-processing system? Who would use such a system?
ANS:


Answer not provided.
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

7.
You have been asked to design a decision support system to help personnel managers make employment decisions. What data would you need to have available to build such a system? What types of questions might an HR manager ask the system?
ANS:


Answer not provided.
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

8.
Describe an expert system.
ANS:


Answer not provided.
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

9.
Explain the Internet using ISPs, portal sites, intranets, firewalls, and extranets.
ANS:


Answer not provided.
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

10.
Distinguish between intranets and extranets.
ANS:


Answer not provided.
PTS:
1
OBJ:
13.2
NAT:
AACSB: T

11.
How can information systems be managed?
ANS:


Answer not provided.
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

12.
If you were asked to establish an information system for your organization, what factors would you need to consider in determining your organization's informational needs? What steps would you go through to establish the system?
ANS:


Answer not provided.
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

13.
Describe the six limitations of information systems and how they impact management decisions.
ANS:


Answer not provided.
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

14.
An increasingly common concern for businesses today is information security. Discuss the security measures that companies are taking to protect their management systems.
ANS:


Answer not provided.
PTS:
1
OBJ:
13.3
NAT:
AACSB: T

15.
Can an information system create a sustainable competitive advantage? Explain.
ANS:


Answer not provided.
PTS:
1
OBJ:
13.4
NAT:
AACSB: T

16.
Briefly describe the negative effects of information systems on employee behavior in organizations.
ANS:


Answer not provided.
PTS:
1
OBJ:
13.4
NAT:
AACSB: T
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